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5. 000m 0.0 0. 00 0.0 ,ffﬁgffﬁ,:,/fff 7 = e ma |
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8.00 3. 000m 0.0 0.00 0.0 =1 mwmﬂm’wwwv ***** AR AR —
8.50 0. 500m 0.0 0. 00 0.0 - o |
11. 60 3. 100m 2.3 1.15 3.6 - -
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17. 40 1. 000m 0.0 0. 00 0.0
21.65 4. 250m 0.0 0. 00 0.0
22.65 1. 000m 0.0 0. 00 0.0
25. 70 3. 050m 0.0 0. 00 0.0
28. 70 3. 000m 0.0 0. 00 0.0
S 61. 400m 9. 1m3
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D>, S LEiERE | TEEERE i atiin) T e - PEfR & :W%(m):
H (m) Al (m) A2 (m) Bl (m) B2 (m) A (%) NG ARt
E - 2 0. 750 1. 800 0. 900 9. 650 10. 175 10.0
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K ESAT 0.85%1/2.5 m 0. 34
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(1% 0]
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